ECON 351 HOMEWORK AND REVIEW QUESTIONS

(1) Discuss why using the area under the Marshallian demand curve to compute the dead-weight loss of a commodity tax is not appropriate. What are the problems that you will face if you use the Marshallian demand curve. Is there a better way of measuring the dead-weight loss? 

(2) Suppose that there are two commodities, R and S. When a tax on R alone is imposed, the excess burden is XR. When a tax on S alone is imposed the excess burden is XS. When the two taxes are imposed simultaneously, the overall excess burden is greater than XR+XS. Explain.

(3) Consider the market for widgets. Assume that supply is perfectly elastic at price of $10. Suppose a tax of 60% is imposed on consumers of widgets.

(a) How would you compute the excess burden of the tax? Which factors would affect the excess burden? (A formula will suffice, but define and explain all the terms.)

(b) Researchers provide you with two versions of the long run demand curve for widgets: 

i) D= 40 - Pw + U

ii) D=40 - Pw + 6I

where Pw is the price paid by consumers, I is the income of consumers, and U is the utility level of consumers. Which demand curve should one use to compute the excess burden? Why?

If I=5 and U=30 use your answer to (b) and the formula in (a) to compute the excess burden.

If possible determine the economic incidence of the tax. If this is not possible explain why.

(4) Suppose that an apple orchard is located next to a beekeeper. If the orchard produces a apples, and the beekeeper produces h units of honey, the cost function for the apple orchard will be Ca(a)=a2 and the cost function for the beekeeper will be Ch(h)=h2-a. Suppose that the price of apple is $4 and that the price of honey is $8.

(a) Supposing that each firm acts independently find the amount of apples and honey that will be produced.

(b) Are the production levels that you have found in part (a) Pareto efficient levels? If not find the pareto efficient level of output for the apple orchard and the bee farm.

(c) Suppose government would like to use taxes or subsidies to correct for the externality. Find the optimal level of taxes or the subsidies.







